Station A

You are working for an electronic components manufacturer.  Your department recently acquired a new machine that cuts very small resistors out of sheets of metal.  The new machine was built in Switzerland, so it uses metric measurements.  The resistors you are to cut are for American cell phones, and they are measured in inches to the nearest inch.  Convert the following inch measurements to centimeters, round your answers to the nearest thousandth.

1)

[image: image1.wmf] in = __________ cm


2)

[image: image2.wmf] in = __________ cm

3)

[image: image3.wmf] in = __________ cm


4)

[image: image4.wmf] in = __________ cm

5)

[image: image5.wmf] in = __________ cm


6)

[image: image6.wmf] in = __________ cm

Station B

You are working for a company that makes small electrical parts for the iPod Touch.  One of the machines used to cut these small parts uses tiny wires that send electrical impulses to cut the metal.  The wires have different sized diameters, measured to the nearest thousandth of an inch, depending on how much electrical current they will carry.  You will be purchasing wire from a German company that measures the diameter of the wires in millimeters.  Convert the following measurements to inches, round to the nearest thousandth.

1)
0.042 mm = __________ in


2)
0.008 mm = __________ in

3)
0.114 mm = __________ in


4)
0.025 mm = __________ in

5)
0.0365 mm = __________ in


6)
0.0064 mm = __________ in

Station C

You are working for a company that makes the plastic covering on screens for cell phones, computers, and calculators.  Sheets of plastic in various thicknesses are cut into the correct shape and size by machines.  The thickness of the plastic sheets is measured to the nearest millionth of an inch, but the machines use metric measurements.  Convert the following inch measurements to millimeters and round your answers to the nearest millionth.

1)
0.000589 in = __________ mm

2)
 0.004765 in = __________ mm

3)
0.005046 in = __________ mm

4)
0.000984 in = __________ mm

5)
0.001684 in = __________ mm

6)
0.000732 in = __________ mm

Station D

You are working for a company that makes steel beams for large buildings.  The steel is purchased in sheets that are 8 feet long and 4 feet wide, but the thickness varies.  The machines that cut the steel use metric measurements, but the steel comes in thicknesses measured in inches.  Convert the following measurements from centimeters to inches, round your answers to the nearest ten-thousandth of an inch.

1)
1.65 cm = __________ in

2)
2.985 cm = __________ in

3)
2.146 cm = __________ in

4)
0.764 cm = __________ in

5)
0.9284 cm = __________ in

6)
1.082 cm = __________ in
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